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Choose the correct option for the following:

Q.1
(1)

{2)

(3)

(4}

{5)

(6)

(7)

{8)

(9)

{10)

How many structural isomer are possible for CaHoBr?
(a) 2 (b) 3 (c) 4 {d) 5

fa}1 (b} 0.1 (€) 100 (d) 1000
Which of the following compounds exhibit geometrical isomerism
(a) 1-pentene (b) 2-methyl-2-pentene (c} 2-penten

(d) 2-methyl-2-butene

Optical isomerism is shown by ?

- {a} n-butyl chloride : {b) sec-butyl chleride

(c} tert-butyl chloride (d) iso--butyl chloride
Which of the following reagent will react readify with both aldehyde and

ketone?

(a) Grignard reagent {b) Schiff's reagent (c}) Tollen's reagent
(d) Fehling's reagent

in manufacture of dynamite one of the chemicals used is............

{a} Glycerol : e {b} Glycerol tri acetate

{c) Glycerel tri iodide (d} Glycero! tri nitrate

The correct b.p. order of (i} tert-buty! alcohol (ii) ethyl alcohot {iii) water
(a)i>fi>iii  (b)iii>ii>i {cyH>ii>i (d)iii>i>ii

Which of the following is a secondary amine

{a) CHsCH(NH:)CHs (b) CH3CHaNHCH;3 (c} NH2CH2CHaNH;

{d} (CHs }aN

Which of the following is not carboxylic acid.

(a) Picric acid  {b) Acetic acid

(¢} Adipic acid  {d) Malonic acid

Which of the following reaction is suitable for the synthesis of salicyladehyde?

{a) Kolbe reaction  (b) Reimer-Tiemer reaction (c) Gatterman reaction
(d) Claisen condesation

S

[10]




Q-2 Give the following statements are True or False {One marks each) :

(1}

{10}
{11}
(12}

[08]

Enantiomers are superimpossible on their mirror images .
Lactic acid is optically active compounds

The Hell-Volhard Zelinsky reaction for R-halo acid
Reduction of aldehyde always gives 1"alcohol. .
Benzaldehyde undergoes aldol condensation.

Phe.n'ols are mdre acid.it.: thén carboxylic acid.
Acetophenone does not give iodoform test.

Hydroboration - oxidation of propene gives n-propy! alcohot .

Answer the following (Attempt any ten) {20

Eclipsed confirmation of ethane is less stable than staggered confirmation -
Explain.

Define the terms: Enantiomers and Diastereomers.

Ethanol undergoes oxidation reaction easily, but tertiary-buty! alcohol does not,
Explain.

Tert-buty! chioride upon reaction with alkoxide gives elimination product and
not substitution, Explain.

Write a note on base-catalyzed cleavage of epoxides

Aldehyde generally undergoes nucleophilic addition more readily than
ketone , Explain.

Define: iodoform test with illustration.

Acetoacetic ester is a much stronger acid than ordinary esters, Explain
Define Kolbe reaction with illustration.

Explain a-chloro butyric acid is stronger acid turn R-chloro butyric acid.
Carboxylic acid has higher boiling point than alicoho! - Explain.

O-nitro phenol is less yolatile than p-nitro phenol - Explain.

W)



Q-4

(1)

(5}

(6}

(7)

Long Answer the following (Attempt any four) (32]

Define “confirmation” Draw all Newman formula of confirmation of n-butane
and explain their stability with potential energy diagram and arrange them into
increasing order stability. o
State and explain the sequence rules of R & S configuration with suitable

examples. Draw all possible confirmational isomers & cyclohexane and

arrange them into stability ordet.

Write the synthesis of glycerol from propene via halohydrin formation and give
the detail stepwise reaction mechanism of Pinacol — Pinacolone rearrangement

Give the detail stepwise reaction mechanism of acid - catalyzed cleavage of
epoxide and Draw structure of all isomeric alcohol having molecular}formu!a
C,H;c0 and write IUPAC name and classify them 1°, 2° and 3" alcohol.
Explain aldol condensation mechanism of acetone and give stepwise detail
mecHanism of Witting reaction.

Give a brief account on “Hinsberg's ” test and Draw the structure of all
isomeric amine having formula C,HN, class them 1°, 2° and 3" amine and
write |UPAC name.

Give reaction mechanism of Gatterman synthesis.

Phenol is stronger acid than alcohol - explain and Give the synthesis of a -

methy! valeric acid.

%)
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Q1 oel QAscu ule s (E2selt A5 ooy [
(1) caHoBr Yolotll s otiRel AMuEl B2cll ?
(a)2 () 3 (c} 4 (d} 5
(2) 10 cm = e dm
(a1 {b)0.1 (c} 160 (d) 1000 D

(3)  oflAett A = ¥ % ARRAs AN sl uRNd B?
(@1l (b) 2-Rage-2-Uodlet
(c) 2-Uodlal (d) 2-Rausd -2-034dlal
4)  olQou WSl & ¥ @ Blsa(usteflay uHUSAL
YA B?
(a) -0Y2UBCL SENRABS  (b) sec- vYRLBE SARLES
(c) tert-62J2L8E SANRABS (d) iso—- 6Y2BE SARBS
(5) oot A4 sl UBas B ESSs wal Sl u
Wl wodl udae 52 8?2
(a) Do uBas  (b) 8ly ulbas (Schiff's reagent)
() Ao UBas  (d) becllot UBAS (Fehting’s)
(6)  stgadiese ol clellele sl UARL AURAA B?
(a) LAAAA (b) CAUA A gt wR2e
(o) GRuA atal AASESs (d) PAURA gl a2
(7) (i) tert- o285 BUEAAA , (i) BB sl
Giiy el HZell 6.6Lell 2l s sedl o

(@i>iis>ii  (b)ii>i>i (Qiisii>i (d)ii>i>i
(8}  o{lRetl Ul sl BlAas AHisel & ?

{3) CHsCH(NHz)CH3 (b) CH3CH;NHCH;

(c} NH2CHaCHoNH: (d) (CHs):N

9  oflQen U4 sl AR stollslls wye A atell
() AGs ARs  (b) ARARs AR
() ABRAs ARs (d) AAAs ARs

Ay




Q-2

Q-3

{10)

ot

TE
(1)

oAt A 58 yBaell AARAWR 6185 0 B?

(a) sledl wlsa by RH2-BHz ylsau

(c) NNt ylBal  (d) AU Utlolal Ul

UUE (Aol Wt § vlel o wRUA(EISell dls [08]

FHotl YlAGloll wRauR WAl U8 sl 818
dat vasiellal wHUesla saleellR 58 8
asRs ARs 3 ysta Badla 8.

dct clesld MAwsia ylsa A -3 ARs Hizell
ylsal 8.

ueslelsssll Rssaletell 1°-uesd A 8. .

 Glooaeslaless W vIeSle delotel UBat vyl B,

Rollctoll AR5l stellsoflells AR srcllely .

R Slollot w2081 s 2w stell.

Ylllots] slesglelletet-a0Eud elot ylbeuell

n-WUBE AUEEEA 1A B,

ol Aetloll ctter AW (PIA A £Y) [20]
B8otolt Bsc{lial Auet B Rous dzuel sl

e 2ll B-uuell.

vyt UL : BAoa(l2lHR wal staurdlflanm?

$8ollclo) W Badeet Adcls ol 2 B wad

dellas casa weldaeg yacllel e B-

o UHendl,

(5)

(6)

{7)
(8)

dxllas syeisd sclaAssoll vcEsUss Aol
yYsaell QeAld ollue 1A B ud (el
oftues ol etell-arlona.

sUlsdssHl Aen-Geluglal Aot uBaur
olltl Cludl, |

alofoll Aotellet yau wil@slss (alotoll
auHel Aredell & d -diend,

clull Bl : WSS 508 (Geleil wRd)

Mo wleRell wuuellw  ARANREBs

Azzroll ARARS Yornicdl dy B-uuadl.
celluRll 2 etdl ylbau(Gelewt AR d)

@7



Q-4

{10}

(11)

{12)

(2)

(3}

(6)

wead: a5 dfls AR A j-sAR
odldls AR sl Yo ARS B,

sellsoflclls AR of Gl weAldel sdl Gy 8-
questell.

p- o8l (el 5cll 0-o1edl Geletell

oty llctcdl vl &l

o{lAotlolt Long Answer WL (AU L UR) [32]
A3uBL(sogHR)oll caluAL L, n-0f2ateil GlEll
A3uEl oYNot Yol €RL.Aell ollH

ool el DN2oellatet Bt AW Aty AMol
WlBlctoll Aacilsrml olscll unmteal.

R & S Qo Hi2 sl [ 2loa Belo2al slat
Aol Aues ARASEL dsFotoll Asl GLal ALl
AU AHS 2URcctott sl sl Al
MRl GRudlets] udng dcll-gloglel usld
o} cvll. wal Retlslat- Qatslclel

- Yetateiloll Bau(Atl dotssiaur 2l

ARs GElUs 2B sllsussell visalell
Ba@el dotssiar WAl Ay CaHqoO AURQYA
Yool WEBAEel ol MUl eltREl
¢, AMe] IUPAC otti AW el dntal 1°, 2°,3°
EAS AL colls2eL 534 |
AR3otoll vueslet Atlotot YBaell Gaull
ane Al e Lol ulaywitting reaction) oll
aolssten? Gau@dl wa,

Rouotal 13| Atz UMl AHy CaHiN
ALY AU AHBotoll ol o{tRER £,
AMle] UPAC ol 24 el cdAHal 19, 20,30

- Shueet collyc 53

Nz Not deAngell dotsstanr Gadadl «ed.
A AL Bolle, 2uesdleedl avunglll yun
AR B.ANY - Rausel AAAs ARse] izAuel
w )

~
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